5 LD KRB RE(A A—20)

T

HKRAD=HDER
&~~~

(Ll

HIKERETRT DT K

[ N
100

‘/
HEKO—HZERTH

HE K B

HOKSRETRTDRTFK

CFNVARY: )

e
100

mE
100

’

I
]
1
1
1
1
1
1
1
1
1
1
L
1
1
1
1

TBJI| & L o) 3t K 5A & 35 R [#KER]

BN L HKET -&o)ﬁ?mﬂlﬂt;ﬂﬁxﬁ)\%

RN TLB100DKIE, ZOEETFRICHRNTLEET

IKBIF1/5I2Y | KB EEEBLET

|

[ ZDAA—STIE A LTHRAN=FND

(= E)

53.56m/S
e

#985. 5Fm3D K % Fr

=31 .

(3

J\H

hEkEE XHEKR (R4. 8. 3)

& LI=E>TO. 49mDAKLEHETF

F LD mNMEEOEEAKEL 1. 68m

S LADEOKE 1. 19m

BN LTIX, SASHDIEHRUERE) ICEDHKIDT=8 . #HKFAHEITLVELT=, $385.5Fm3D

HKES LIZEFEL, F LTROBIIZFHENSKEZDELELE,




TBJI| & L o) 3t K 5A & 25 & [#KER] Al #R

5 KESBROREICIVREFENEDLIGEELHYET,

JENIZLTIBAIED TR (BRE) IS&HHK] D&, #KRHZTOELE.

BROKRIE. REFHORKEFERES. 8mm, REFHEEEFS.3mE&LG Y, BIIF LIZE T E5RKFHAEES3. 56m3/sEFTERL
F Ll

HOKERETDEER. 985 5Fm3DKE X LI

()
1

BB L. BIHIOKILZLIenTIFH EMTEE L=,

BEROWKR GBI A LREFEYRE) ) eI & LG
éé‘*frﬁﬁrfﬁji mm Pry—— _REHE po R #WIIkZ B
" - . =
80 — RETE 1 950 i) ® | EAXaUU—RT L
- —
50 iz = 51. 5m
15 1 200
40 2 E 380. Om
35 150 -
3(5) = K F& 125, 000m3
2 1100 £ k @ & 34. 4km2
10 n F’F 7 90 oKk @O 0. 35km2
0 ‘ 0 EMEEKE 4, 200Fm3
N N N N N N N N N N N N N et -
S <5° 039 \,,_)0 0 w\.g S S S oD 20 q/@ S Y—Fr—Y KL EL. 144. 50m
—— 100
EL|m g m3/s
145 RANRAE " o 80
. —Fy— K4 EL 144.50m
H'Es_'cj(bjﬁ./-\ﬁ 5356m3/5 I
— Whe — & LEFIKAL(m)
INE - e m— = F =Y KL
33.63m3/s RAXBRE — A B (m3/5) 1 60
135 |— )\ 34.57m3/s 2R E(m3/s)
1 40
w5~
420
115 0
O O O O O O O O ©O ©O O O © O O O © O O © © O ©o o o o o o o
o = T = T T R T T T = T = T = O = T = T = T = T = = = = T = T = T = T = T = I = I =B = =1
— N ™ o - N ™ < n © ~ [ee] [=>] o — o™N ™ < ©n © ~ [ee] (=] o — N ™ o —
N NS T T T Em e - e - = - - = - N N N N

N



